Do Roman Numerals Count?

Objective: To compare how iron(II) and iron(III) compounds react with different

                 chemical compounds

Chemicals:

       iron(II)sulfate      _____________________ (chemical formula)

       
       iron(III)sulfate     _____________________ (chemical formula)

       Reagents: barium chloride, BaCl2 

    
potassium thiocyanate, KSCN


    
tannic acid, C76H52O46

            sodium bisulfate, NaHSO4

    
potassium hexocyanoferrate, K4Fe(CN)6∙H2O

Procedure:

       You will observe the reaction between iron(II)sulfate and each of the reagents.
       You will then observe the reaction between iron(III)sulfate and these same reagents.

       Use 2 drops each of the iron(II)sulfate, iron(III)sulfate and the reagents.  

       Perform the reactions in a spot plate.  

       When all observations are complete, dump the contents into the sink, rinse with
            water and place the spot plates in the designated bucket to soak.

Data:  Prepare a table on the back of this paper to show your results.

Conclusions:

       1. Do iron(II)sulfate and iron(III)sulfate react the same?

       2. What is the problem with simply naming a compound “iron sulfate”?

